







































Flute

Clarinet in B

Trombone

Xylophone

Guitar

Violin

Viola

Cello

Piano










































 



















 























 


















 

















 leg.

  
leg.

















The winter. The frost on the trees
Maria Romanova

Score






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.



8   

  
8 
8 
8 
8 


8 















   
cresc.

   
cresc.







 
cresc.



   
cresc.

  
cresc.

  
cresc.

  

   







  



  

  

  

   
leg.

   







  



   
  

  

  

  







  



  

  

   



   

   





 
cresc.

 



   

  

  

2
The winter. The frost on the trees

leg
.






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

14   

   
14 
14 
14

  
14 


14   

  

  
leg.

   
leg.

   





  





   
  

  

  

  





  





  

  

   

   

   
leg.





 

 



   

  

  

  

   





  

  



  

  

  

   

   





  

  



   
  

  

3
The winter. The frost on the trees

leg.

leg.

leg.

leg.

leg.






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.


20   

  
leg.

20 
20 
20

  
20

  


20

  

  

   





















 



















 



















 



















  



















  leg.



















4
The winter. The frost on the trees

leg.

leg.

leg.

leg.

leg.

leg.






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

27  


27 
27 
27 
27 


27 





  






















 leg.















 


 















   


 















   



 















 


  
leg.















   



5
The winter. The frost on the trees

leg.






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

34   


34 
34 
34 
34 


34 

  


 















   
















   

   
dim.



 
dim.

 
dim.

 
dim.



   
dim.

  

  
dim.



   

   



  

  

  



  

  
dim.

  

  

   



  

  

  



   

  

  

   
leg.

   



  leg.

  

  



  

  
leg.

   

6
The winter. The frost on the trees

leg.

leg






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.









40   


40 
40  

dim.

40  
dim.

40  
dim.


40    

dim.

  







   
dim.





  

  

  



  

  
dim.

leg.



  

   



  leg.

   leg.

  



   

  



   
leg.

   



  

  

  



  

  













  

   
dim.



 

 
dim.

 



   
dim.

  

  
dim.







   
dim.

   
leg.

  
dim.

  
dim.

  

  
dim.



  

  
dim.

  

7
The winter. The frost on the trees

leg.

leg.

leg.

leg.

leg.






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

46   

   
46

  
46    leg.

46   
46   

leg.


46    

  

  
leg.

    

   
leg.

  
leg.

  
leg.  

  



  
leg

  

   







 



















 



















   



















  



















   















8
The winter. The frost on the trees

leg.

leg.

leg

leg

leg

leg

leg

leg

leg






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

53 


53    
53 
53 
53 


53 









   


















  



















  



















   
































  























  

9
The winter. The frost on the trees






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.


60 


60 
60 
60 
60   


60 









  





















  








   











  



  
























  


   

  
















  





 

10
The winter. The frost on the trees






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

66 


66 
66 
66 
66    


66

  



  





   








  



  








   











  




















  













   
cresc.

   
cresc.







 
cresc.



   
cresc.

  
cresc.

  



  

   

  
cresc.

leg.





  



  

  

  
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The winter. The frost on the trees






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

72    

   
72

  
72 
72 
72   leg.


72    

leg.

  

  

  

   
leg.

  




  



  

  

   
leg.



   

   
leg
.





 

 



   

  

 



   
leg.

   

  
leg.



  

  



  

  


   

   

  



  

  



   
leg.

  
leg.

  

  
leg
.

   
leg.

  


  
leg.

  
leg.



   

   

  
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The winter. The frost on the trees






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.











78    


78   
78  
78  
78  


78    

  

 

   
leg.





  

  

  



  

  


   

   

 

  
leg.

   leg.

  



   
leg.

  
leg.

  

   
leg.

   
leg.

  

  

  

  
leg.



   

   

  















   
dim.

   
dim.





 

 
dim.



   
dim.

  
dim.

  
dim. 

   
leg.

   





  
dim.

  



  

  

  
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leg






















Fl.

B Cl.

Tbn.

Xyl.

Gtr.

Vln.

Vla.

Vlc.

Pno.

84    
leg.

   
84 
84 
84   
84    leg.


84    

leg.

  

  
leg.

   

  





  leg.

  



  

  

   

 dim.






















































































































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